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(11 4¥) ANN company purchases a machine on Jan.1, 20X1 for $7,500,000. The
estimated useful life is 5 years, and the estimated residual value is $1,250,000.
The company uses the straight line method to depreciate the machine. On Dec.
31, 20X2, the company considers that the benefits generated by the machine may
decrease due to rapid improvements in technology. The net realizable value of
the machine is $4,500,000, and the company estimates that the sum of
discounted cash inflows generated by the machine is $4,550,000.

Required:
(1) Prepare the entry to recognize the necessary impairment for the machine on

Dec.31, 20X2.

(2) Prepare the entry to recognize the depreciation for the machine on Dec.31,
20X3.

(3) If the recoverable amount of the machine is $3,800,000 on Dec.31, 20X3,
prepare the necessary entry for that machine on that date.

(4) Calculate the depreciation expense of the machine for 20X4.
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1. Multiple-choice questions (45 points in total; 3 points for each )

1. Stones Manufacturing sells a marble slab for $1,100. Fixed costs are $34,000, while the variable costs
are $500 per slab. The company currently plans to sell 240 slabs this month. What is the margin of safety
assuming 80 slabs are actually sold? (Round all unit calculations UP to the nearest whole number.)

A) $201,300

B) $81,300

C) $25,300

D) $34,000

2. The Cybertronics Corporation reported the following information for its Cyclotron Division:
Revenues $2,200,000

Operating costs 1,300,000

Operating assets 1,100,000

Income is defined as operating income.

What is the Cyclotron Division's return on investment?

A) 69.2%

B) 84.6%

C) 40.9%

D) 81.8%

3.  Which of the following includes both traced direct costs and allocated indirect costs?
A) cost tracing

B) cost pools

C) cost assignments

D) cost allocations

4. Midize Flower Company provides flowers and other nursery products for decorative purposes in
medium to large sized restaurants and businesses. The company has been investigating the purchase of a
new specially equipped van for deliveries. The van will cost $61,392 with a(n) eight-year life. The
expected additional cash inflows are $16,000 per year. What is the internal rate of return?

A) 18%

B) 20%

C)22%

D) 24%
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5. Which of the following information is needed to prepare a flexible budget?
A) actual units sold
B) actual variable cost
C) actual selling price per unit
D) actual fixed cost

6. Relevant total costs in the economic order quantity decision model equal relevant ordering costs plus which of
the following costs?

A) carrying costs

B) stockout costs

C) quality costs

D) purchasing costs

7.  Which of the following differentiates job costing from process costing?

A) Process costing is used when each unit of output is identical, and job costing deals with unique products not
produced in batches.

B) Job costing is used when each unit of output is identical and not produced in batches, and process costing deals
with unique products produced on large scale.

C) Job costing is used when each unit of output is identical, and process costing deals with unique products.

D) Job costing is used by manufacturing industries, and process costing is used by service industries.

8. Costs of normal spoilage are usually accounted for as:

A) a deduction from the cost of goods sold

B) a component of the costs of good units manufactured

C) a "loss from normal spoilage account” in income statement
D) a liability on a balance sheet

9. Teddy Company uses a standard cost system. In May, $234,000 of variable manufacturing overhead costs were
incurred and the flexible-budget amount for the month was $240,000. Which of the following variable
manufacturing overhead entries would have been recorded for May?

A) Accounts Payable Control and other accounts 240,000

Work-in-Process Control 240,000
B) Work-in-Process Control 234,000

Accounts Payable Control and other accounts 234,000
C) Work-in-Process Control 240,000

Variable Manufacturing Overhead Allocated 240,000
D) Accounts Payable Control and other accounts 234,000

Variable Manufacturing Overhead Control 234,000

10. Stefan Ceramics is in the business of selling ceramic vases. It has two departments — molding and finishing.
Molding department purchases tungsten carbide and produces ceramic vases out of it. Ceramic Vases are then
transferred to finishing department, which designs it as per the requirement of the customers.

During the month of July, molding department purchased 500 kgs of tungsten carbide at $60 per kg. It started
manufacture of 4,000 vases and completed and transferred 3,700 vases during the month. It has 300 vases in the
process at the end of the month. It incurred direct labor charges of $1,400 and other manufacturing costs of $800,
which included electricity costs of $400. Stefan had no inventory of tungsten carbide at the end of the month. It also
had no beginning inventory of vases. The ending inventory was 45% complete in respect of conversion costs. What
is the cost of tungsten carbide that will be assigned to vases finished and transferred to the finishing department for
the month of July?

A) $30,000

B) $30,350

C) $4,500

D) $27,750

AR LALALE TRHEESE ) LHE -
QARBEEAE S TERKHER -
3HEANGEETEERANESR 28  FRARKELETHKRTEL  AFEZRACAHE -




ARAM: 11 53A485%28%

(MW= ARA IR A AR RAE

AREE: 6 R(XARA% 3 R)

#8  RARTERHE Aade: S ARLE
11. John's 8-year-old Chevrolet Trail Blazer requires repairs estimated at $11,000 to make it road
worthy again. His wife, Sherry, suggested that he should buy a 5-year-old used Jeep Grand Cherokee
instead for $11,000 cash. Sherry estimated the following costs for the two cars:

Trail Blazer Grand Cherokee

Acquisition cost $30,000 $11,000
Repairs $11,000 —
Annual operating costs

(Gas, maintenance, insurance) $2480 $2000

What should John do? What are his savings in the first year?
A) Buy the Grand Cherokee; $13,000

B) Buy the Grand Cherokee; $480

C) Fix the Trail Blazer; $5980

D) Fix the Trail Blazer; $9813

12. Injoint costing, which of the following changes may lead to a change in product classification?
A) main product becomes technologically obsolete and its market value falls significantly

B) byproduct sales price decreases due to a new government regulation

C) main product sales price increases due to a new application

D) byproduct losses value due to a competing products

13.  Which of the following is NOT correct about the balanced scorecard?

A) profits and value created for shareholders are perspectives revealed on a balance scorecard

B) the balance scorecard increases managements emphasis on short-term results

C) the balanced scorecard reveals information about the success of the company in its target market
D) nonfinancial and operational indicators are reported on a balance scorecard

14.  Which of the following describes the direct allocation method's allocation of support-department
costs?

A) it allocates support-department costs to operating departments by fully recognizing the mutual
services provided among all support departments

B) it allocates support-department costs to other support departments and to operating departments in
a sequential manner that partially recognizes the mutual services provided among all support
departments

C) it allocates each support-department's costs to operating departments only

D) it requires managers to rank the support departments after predicting the usage of multiple support
departments

15. In along-run, it is worthwhile to sell a product only if the selling price exceeds:
A) the total of all the direct costs of the product

B) the total manufacturing costs of the product

C) the total of the fixed costs of the value chain

D) full cost of the product and a markup that provides an adequate return on capital
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Brady Corporation has three divisions: abodes, buildings, and curtains. Brady’s new
controller, Henry Woody, is reviewing the allocation of fixed corporate-overhead costs to
the three divisions. He is presented with the following information for each division for

2021:
Abodes Buildings Curtains
Revenues $9,800,000  $17,100,000  $25,500,000
Direct manufacturing costs 3,500,000 7,800,000 11,100,000
Division administrative costs 3.300.000 2.000.000 4.700.000
Division margin $3.000.000 $ 7.300,000 $ 9,700,000
Number of employees 300 150 550
Floor space (square feet) 53,200 35,340 101,460

Until now, Brady Corporation has allocated fixed corporate-overhead costs to the
divisions on the basis of division margins. Woody asks for a list of costs that comprise
fixed corporate-overhead and suggests the following new allocation bases:

Fixed Corporate-Overhead Costs

Suggested Allocation Bases

Human resource management $ 2,300,000

Facility 3,200,000

Corporate administration 4.600.000

Total $10.100.000
Required

Number of employees
Floor space (square feet)
Division administrative costs

1. Allocate 2021 fixed corporate-overhead costs to the three divisions using division
margin as the allocation base. What is each division’s operating margin percentage?

2. Allocate 2021 fixed costs using the allocation bases suggested by Woody. What is
each division’s operating margin percentage under the new allocation scheme?

3. Compare and discuss the results of requirements 1 and 2. If division performance
incentives are based on operating margin percentage, which allocation scheme should

Brady Corporation use? Why?
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Philip Electronics manufactures 200,000 55-inch 4K TVs each year. The variable and
fixed costs of rework and repair for the TVs are as follows:

Repair Costs
Rework Customer support Transportation Warranty repair
cost cost cost per hour
perhour ~ per hour per load
Variable cost $ 75 $25 $275 $105
Fixed cost $100 $50 $150 $ 75
Total cost 8175 $75 $425 $180

Philip Electronics’ 55-inch 4K TVs have a quality problem that causes shadows in the
picture. Its engineers suggest changing a key component in each TV. The new component
will cost $22 more than the old one. In the next year, however, Philip Electronics expects
that with the new component it will (1) save 10,000 hours of rework, (2) save 1,000 hours
of customer support, (3) move 300 fewer loads, (4) save 10,000 hours of warranty repairs,
and (5) sell an additional 2,000 4K TVs, for a total additional contribution margin of
$2,200,000. Philip Electronics believes that even as it improves quality, it will not be able
to save any of the fixed costs of rework or repair. Philip Electronics uses a 1-year time
horizon for this decision because it plans to introduce a 5K TV at the end of the year.

Required

1.  Should Philip Electronics change to the new component? Show your calculations.

2. Suppose the estimate of 2,000 additional TVs sold is uncertain. What is the
minimum number of additional TVs that Philip Electronics needs to sell to justify
adopting the new component?

3. What other factors should managers at Philip Electronics consider when making

their decision about changing to a new component?
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The Sarah Company, which is under contract to the Ministry of Defense, assembles troop
deployment boats. As part of its research program, it completes the assembly of the first of
a new model (BONDO07) of deployment boats. The Ministry of Defense is impressed
with the BONDOO7. It requests that Sarah submit a proposal on the cost of producing
another six BONDO007s.

Sarah reports the following cost information for the first BONDOQ7 assembled and uses a
90% cumulative average time learning model as a basis for forecasting direct

manufacturing labor-hours for the next six BONDO007s. (A 90% learning curve means b =
n0.9 -0.105361

n2 = 0593147 0152004

Direct material $201,000

Direct manufacturing abor time for first boat 15,700|1abor-hours

Direct manufacturinglaboreaste 1§ 43|per direct manufacturing labor-hour
Variable manufacturing overhead cost $ 24|per direct manufacturing labor-hour
Other manufacturing overhead 15%of direct manufacturing labor costs
Tooling costs® - | $281,000 _
Learning cuve for manufacturing labor time per boat 90% cumulative average fime’
_aTooling can be reused at no extra cost because all of its cost has been assigned to the first deployment boat.

Required

1. Calculate predicted total costs of producing the six BOND007s for the Ministry of
Defense. (Sarah will keep the first deployment boat assembled, cost at $1,533,900, as
a demonstration model for potential customers.)

2. What is the dollar amount of the difference between (a) the predicted total costs for
producing the six BONDOQO07s in requirement 1 and (b) the predicted total costs for
producing the six BONDO007s, assuming that there is no learning curve for direct
manufacturing labor? That is, for (b) assume a linear function for units produced and
direct manufacturing labor-hours.

3. Assume the same information for the Blue Boat Company as in above question with
one exception. This exception is that Blue Boat uses a 90% incremental unit-time
learning model as a basis for predicting direct manufacturing labor-hours in its
assembling operations. Prepare a prediction of the total costs for producing the six
BONDOO07s for the Ministry of Defense.
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